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Directions (Questions 1-25): Study the passages
below to answer the questions that follow each
passage.

Passage |
Harold a professional man who had worked in an
office for many years had a fearful dream. In it, he
found himself in a land where small slug-like animals
with slimy tentacles lived on people's bodies. The
people tolerated the loathsome creatures because
after many years they grew into elephants which
then became the nation's system of transport,
carrying everyone wherever he wanted to go. Harold
suddenly realised that he himself was covered with
these things, and he woke up screaming. In a vivid
sequence of pictures this dream dramatised for
Harold what he had never been able to put in to
words; he saw himself as letting society feed on his
body in his early years so that it would carry him
when he retired. He later threw off the "security bug"
and took up freelance work.

1. In his dream Harold found the loathsome
creatures

A. in his village B. in his own house
C. in a different land D.in his office
2. Which one of the following phrases best helps to
bring out the precise meaning of 'loathsome
creatures'?

A. Security bug and slimy tentacles

B. Fearful dream and slug-like animals
C. Slimy tentacles and slug-like animals
D. slug-like animals and security bug

3.The statement that 'he later threw off the
security bug' means that

A. Harold succeeded in overcoming the
need for security

B. Harold stopped giving much
importance to dreams

C. Harold started tolerating social
victimisation

D. Harold killed all the bugs troubled him

4. Harold's dream was fearful because

it brought him face to face with reality
it was full of vivid pictures of snakes
he saw huge elephant in it

in it he saw slimy creatures feeding on
people's bodies

oowp
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PART A

PASSAGE I
Laws of nature are not commands but statements of
acts. The use of the word "law" in this context is
rather unfortunate. It would be better to speak of
uniformities in nature. This would do away with the
elementary fallacy that a law implies a law giver. If a
piece of matter does not obey a law of nature it is
punished. On the contrary, we say that the law has
been incorrectly started.

5. If a piece of matter violates nature's law, it is not
punished because

A. it is not binding to obey it

B there is no superior being to enforce
the law of nature

C. it cannot be punished

D it simply means that the facts have not
been correctly stated by law

6. Laws of nature differ from man-made laws
because
A. the former state facts of Nature
B. they must be obeyed
C. they are natural
D. unlike human laws, they are systematic

7. The laws of nature based on observation are

A. conclusion about the nature of the
universe.

B. true and unfalsifiable.

C. figments of the observer imagination.

D. subject to change in the light of new

facts.
8. The author is not happy with word 'law' because

A. it connotes rigidity and harshness

B it implies an agency which has made
them

C. it does not convey the sense of
nature's uniformity

D it gives rise to false beliefs

PASSAGE llI

Male lions are rather reticent about expanding their
energy in hunting more than three quarters of kills
are made by lionesses are in front, tensely scanning
ahead, the cubs lag playfully behind and the males
bring up the rear, walking slowly, their massive
heads nodding with each step as if they were bored
with the whole matter. But slothfulness may have
survival value. With lionesses busy hunting, the
males function as guard for the cubs, protecting
them particularly from hyenas.
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9. According to the passage male lions generally do
not go for huntings because

A. they don not like it.

B. they want lioness to get training

C. they wish to save their vigour for other
things

D. they are very lazy

10. Male lions protect their cubs

A. from the members of their own species
B. from hyenas only
C. from hyenas as much as from other
enemies
D more from hyenas than from other
animals
11. Lioness go for hunting

A. all alone
B. with their male partners only
C. with their cubs and male partners
D. with their cubs only

12. When the lionesses go in search for their
prey, they are very

A. serious B. cautious
C. playful D. sluggish
PASSAGE IV

At this stage of civilisation, when many nations are
brought in to close and vital contact for good and
evil, it is essential, as never before, that their gross
ignorance of one another should be diminished, that
they should begin to understand a little of one
another's historical experience and resulting
mentality. It is the fault of the English to expect the
people of other countries to react as they do, to
political and international situations. Our genuine
goodwill and good intentions are often brought to
nothing, because we expect other people to be like
us. This would be corrected if we knew the history,
not necessarily in detail but in broad outlines, of the
social and political conditions which have given to
each nation its present character.

13. According to the author of 'Mentality' of a nation
is mainly product of its

A. history B. international position
C. politics D. present character
14. The need for a greater understanding between
nations
A. was always there
B. is no longer there
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C. is more today than ever before
D. will always be there
15. The character of a nation is the result of its

A. mentality B.
C. gross ignorance
D. socio-political conditions

16. According to the author his countrymen should

cultural heritage

A. read the story of other nations

B. have a better understanding of other
nations

C. not react to other actions

D. have vital contacts with other nations

17. Englishmen like others to react to political
situations like

A. us B. themselves
C. othersD. each others
PASSAGE V

Speech is great blessings but it can also be great
curse, for while it helps us to make our intentions
and desires known to our fellows, it can also if we
use it carelessly, make our attitude completely
misunderstood. A slip of the tongue, the use of
unusual word, or of an ambiguous word, and so on,
may create an enemy where we had hoped to win a
friend. Again, different classes of people use
different vocabularies, and the ordinary speech of an
educated may strike an uneducated listener as
pompous. Unwittingly, we may use a word which
bears a different meaning to our listener from what it
does to men of our own class. Thus speech is not a
gift to use lightly without thought, but one which
demands careful handling. Only a fool will express
himself alike to all kinds and conditions to men.

18. The best way to win a friend is to avoid

A. irony in speech
B. pomposity in speech
C. verbosity in speech

D. ambiguity in speech
19. While talking to an uneducated person, we

should use
A. ordinary speech
B. his vocabulary
C. simple words
D. polite language
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20. If one used the same style of language with
everyone, one would sound

A. flat  B. boring
C. foolishD. democratic
21. A'slip of the tongue' means something said

A. wrongly by choice

B. unintentionally
C. without giving proper thought
D. to hurt another person

22. Speech can be curse, because it can

hurt others

lead to carelessness
create misunderstanding
reveal our intentions

oowp

PASSAGE VI

| felt the wall of the tunnel shiver. The master alarm
squealed through my earphones. Almost
simultaneously, Jack yelled down to me that there
was a warning light on. Fleeting but spectacular
sights snapped into ans out of view, the snow, the
shower of debris, the moon, looming close and big,
the dazzling sunshine for once unfiltered by layers of
air. The last twelve hours before re-entry were
particular bone-chilling. During this period, | had to
go up in to command module. Even after the fiery re-
entry splashing down in 810 water in south pacific,
we could still see our frosty breath inside the
command module.

23. The word 'Command Module' used twice in the
given passage indicates perhaps that it deals
with

A. an alarming journey
B. a commanding situation
C. a journey into outer space

D. a frightful battle.
24. Which one of the following reasons would one
consider as more as possible for the warning
lights to be on?

A. There was a shower of debris.

B. Jack was yelling.

C. A catastrophe was imminent.

D. The moon was looming close and big.

25. The statement that the dazzling sunshine was
"for once unfiltered by layers of air" means

that the sun was very hot

that there was no strong wind

that the air was unpolluted

none of above

oow>
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Directions (Questions 26-30):Pick out the most
effective word(s) from the given words to fill in the
blank to make the sentence meaningfully complete.

26. Fate smiles ...... those who untiringly grapple
with stark realities of life.

A. with  B. over
C. on D. round
27. The miser gazed ...... at the pile of gold coins in
front of him.
A. avidly B. admiringly
C. thoughtfully D. earnestly
28. Catching the earlier train will give us the ...... to
do some shopping.
A. chance B. luck
C. possibility  D. occasion
29. lsawa ...... of cows in the field.
A. group B. herd
C. swarm D. flock
30. The grapes are now ...... enough to be picked.
A. ready B. mature
C. ripe D. advanced

Directions (Questions 31-34): In the following the
questions choose the word which best expresses the
meaning of the given word.

31. CORPULENT

A. Lean B. Gaunt
C. Emaciated D. Obese
32. BRIEF
A. Limited B. Small
C. Little D. Short
33. EMBEZZLE
A. Misappropriate B. Balance
C. Remunerate D. Clear
34. VENT
A. Opening B. Stodge

C. End D. Past tense of go
Directions (Questions 35-38) In the following
questions choose the word which is the exact
OPPOSITE of the given words.

35. ENORMOUS

A. Soft B.
C. Tiny D.

Average
Weak
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36. COMMISSIONED

A. Started B. Closed

C. Finished D. Terminated
37. ARTIFICIAL

A. Red B. Natural

C. Truthful D. Solid
38. EXODUS

A. Influx B. Home-coming

C. Return D. Restoration

Directions (Questions 39-41): In each of these
questions, out of the given group of words, choose
the correctly spelt word.

39. A Ommineous B Omineous
C. Ominous D Omenous
40. A Pessenger B. Passenger
C. Pasanger D Pesanger
41. A. Benefitted B. Benifited
C. Benefited D. Benefeted

Directions (Questions 42-44): Choose the option
which best expresses the meaning of the
idiom/phrase in the sentence.

42. To end in smoke

A. To make completely understand
B. To ruin oneself

C. To excite great applause

D. To overcome someone

E None of these

43. To bé above board

A. To have a good height
B. To be honest in any business deal
C. They have no debts
D. To try to be beautiful
E. None of these
44. To put one's hand to plough

A. To take up agricultural farming

B. To take a difficult task

C. To get entangled into unnecessary
things

D. Take interest in technical work

E. None of these

NIFT MOCK TEST - 002

Directions (Questions 45-47): A part of the
sentence is italicised and underlined. Below are
given alternatives to the italicised part which may
improve the sentence. Choose the correct
alternative. In case no improvement is needed,
option 'D' is the answer.

45. The workers are hell bent at getting what is due
to them.

A. hell bent on getting

B. hell bent for getting

C. hell bent upon getting

D. No improvement

46. When it was feared that the serfs might go too

far and gain their freedom from serfdom, the
protestant leaders joined the princes at crushing
them.

A. into crushing B. in crushing
C. without crushing D. No
improvement

47. If the room had been brighter, | would have been
able to read for a while before bed time.

A. If the room was brighter

B. If the room are brighter

C. Had the room been brighter
D. No improvement

Directions (Questions 48-50): /n questions given
below out of four alternatives, choose the one which
can be substituted for the given word/sentence.

48. Extreme old age when a man behaves like a fool
A. Imbecility B. Senility

C. Dotage D. Superannuation
49. That which cannot be corrected

A. Unintelligible B. Indelible

C. lllegible D. Incorrigible
50. The study of ancient societies

A. AnthropologyB. Archaeology

C. History D. Ethnology

51. A sum of money at simple interest amounts to
Rs. 815 in 3 years and to Rs. 854 in 4 years. The
sum is:

A. Rs. 650 B.
C. Rs. 698 D.

Rs. 690
Rs. 700
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52. The cost price of 20 articles is the same as the
selling price of x articles. If the profit is 25%, then
the value of x is:

A. 15 B. 16
C. 18 D. 25
53. Two students appeared at an examination. One
of them secured 9 marks more than the other and
his marks was 56% of the sum of their marks.
The marks obtained by them are:

A. 39, 30 B. 41, 32
C. 42, 33 D. 43, 34
54. In the first 10 overs of a cricket game, the run
rate was only 3.2. What should be the run rate in
the remaining 40 overs to reach the target of 282

runs?
A. 6.25 B. 6.5
C. 6.75 D. 7
55. Which one of the following is not a prime
number?
A. 31 B. 61
C. 71 D. 91
56. 1397 x 1397 = ?
A. 1951609 B. 1981709
C. 18362619 D. 2031719

57. Find the greatest number that will divide 43, 91
and 183 so as to leave the same remainder in
each case.

A. 4 B. 7
C. 9 D. 13
58. The H.C.F. of two numbers is 23 and the other
two factors of their L.C.M. are 13 and 14. The
larger of the two numbers is:

A. 276 B. 299
C. 322 D. 345
59. A man has Rs.480 in the denominations of one-
rupee notes, five-rupee notes and ten-rupee
notes. The number of notes of each
denomination is equal. What is the total number of
notes that he has ?

A. 45 B. 60
cC. 75 D. 90
3.5 ? 8

60. (17) x(17) =17
A, 229 B. 275
C. 425 D. 45
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61. A man's speed with the current is 15 km/hr and
the speed of the current is 2.5 km/hr. The man's
speed against the current is:

A. 8.5 km/hr B. 9 km/hr
C. 10 km/hr D. 12.5 km/hr
62. A boat can travel with a speed of 13 km/hr in still
water. If the speed of the stream is 4 km/hr, find
the time taken by the boat to go 68 km
downstream.

A. 2 hours B.
C. 4 hours D.
63. Find the odd man out.

3 hours
5 hours

8, 27, 64, 100, 125, 216, 343

A. 27 B. 100
C. 125 D. 343
64. A person crosses a 600 m long street in 5
minutes. What is his speed in km per hour?

A. 3.6 B. 7.2
C. 8.4 D. 10
65. An aeroplane covers a certain distance at a
speed of 240 kmph in 5 hours. To cover the same

distance in1% hours, it must travel at a speed of:

A. 300 kmph  B. 360 kmph
C. 600 kmph  D. 720 kmph
66. A can do a work in 15 days and B in 20 days. If
they work on it together for 4 days, then the
fraction of the work that is left is :

1 1
A. ) B. 10
C. 1 D. 1
15 15

67. A bank offers 5% compound interest calculated
on half-yearly basis. A customer deposits Rs.
1600 each on 1st January and 1st July of a year.
At the end of the year, the amount he would have
gained by way of interest is:

A. Rs. 120 B. Rs. 121
C. Rs. 122 D. Rs. 123
68. The difference between simple and compound
interests compounded annually on a certain sum
of money for 2 years at 4% per annum is Re. 1.
The sum (in Rs.) is:

A. 625 B.
C. 640 D.

630
650
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69. A, B and C jointly thought of engaging
themselves in a business venture. It was agreed

that A would invest Rs. 6500 for 6 months, B, Rs.

8400 for 5 months and C, Rs. 10,000 for 3
months. A wants to be the working member for
which, he was to receive 5% of the profits. The
profit earned was Rs. 7400. Calculate the share
of B in the profit.

A. Rs. 1900 B. Rs. 2660
C. Rs. 2800 D. Rs. 2840
70. The sum of ages of 5 children born at the
intervals of 3 years each is 50 years. What is the
age of the youngest child?

A. 4 years B. 8 years
C. 10 years D. None of these
71. A father said to his son, "l was as old as you are
at the present at the time of your birth". If the
father's age is 38 years now, the son's age five
years back was:

A. 14 years B. 19 years
C. 33 years D. 38 years
72. If one-third of one-fourth of a number is 15, then
three-tenth of that number is:

A. 35 B. 36
C. 45 D. 54
2 2
73. Evaluate : (2.39) - (1.61)
2.39 - 1.61
A. 2 B. 4
C 6 D. 8
3 3
74. The value of  (0.96) - (0.1)

is:

2 2
(0.96) + 0.096 + (0.1)

A. 0.86 B.
C. 0.97 D.

0.95
1.06

75. The value of

0.1x0.1x0.1+0.02x0.02x0.02
is:

0.2x0.2x0.2+0.04 x0.04 x 0.04

A. 0.0125 B. 0.125
C. 0.25 D. 0.5
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76. Look at this series: 2, 1, (%), (1/4), ... What
number should come next?

A. (1/3) B. (1/8)
C. (2/8) D. (1/16)
77. Which word does NOT belong with the others?
A. parsley B. basil
C. dill D. mayonnaise

78. Odometer is to mileage as compass is to

A. speed B. hiking

C. needle D. direction
79. SCD, TEF, UGH, , WKL

A. CMN B. uJl

C. VIJ D. JT

80. choose the word that is a necessary part of the
word.

harvest
A. autumn B. stockpile
C. tractor D. crop
81. Here are some words translated from an artificial
language.

gorblflur means fan belt
pixngorbl means ceiling fan
arthtusl means tile roof
Which word could mean "ceiling tile"?
A. gorbltusl B. flurgorbl
C. arthflur D. pixnarth
82. Tanya is older than Eric.
Cliff is older than Tanya.
Eric is older than CIiff.
If the first two statements are true, the third
statement is
A. true B.

false C. uncertain

Directions (Questions 83-87): these questions are

based on the information given below:

1.A B, C, D and E are five men sitting in a line
facing to south - while M, N, O, P and Q are five
ladies sitting in a second line parallel to the first
line and are facing to North.

. B who is just next to the left of D, is opposite to Q.

. C and N are diagonally opposite to each other.

. E is opposite to O who is just next right of M.

. P who is just to the left of Q, is opposite to D.

. M is at one end of the line.

OO WN

83. Who is sitting third to the right of O ?

A. Q B. N
C. M D. Data inadequate
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84.

85.

86.

87.

88.

89.

90.

91.

Which of the following pair is diagonally opposite
to each other ?

A. EQ B. BO

C. AN D. AM
If O and P, Aand E and B and Q interchange
their positions, then who will be the second
person to the right of the person who is opposite
to the person second of the right of P ?

A. D B. A

C. E D. O
In the original arrangement who is sitting just
opposite to N ?

A. B B. A

C. C D. D
If B shifts to the place of E, E shifts to the place
of Q, and Q shifts to the place of B, then who will
be the second to the left of the person opposite
toO?

A. Q B. P

C. E D. D
One morning Udai and Vishal were talking to
each other face to face at a crossing. If Vishal's
shadow was exactly to the left of Udai, which
direction was Udai facing?

A. East B. West

C. North D. South
If A+ B means A is the mother of B; A - B means
Ais the brother B; A % B means A is the father of
B and A x B means A is the sister of B, which of
the following shows that P is the maternal uncle
of Q?

A. Q-N+MxP

B. P+SxN-Q

C. P-M+NxQ

D. Q-S%P
In a certain code 'MISSIONS' is written as
'MSIISNOS'. How is 'ONLINE' written in that
code?

A. OLNNIE B. ONILEN
C. NOILEN D. LNOENI
E. ONNLIE

Grand Central Terminal, Park Avenue, New York
is the world's

A. largest railway station
B. highest railway station
C. longest railway station D. None of the
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92. Which of the following is used in pencils?

A. Graphite B. Silicon
C. Charcoal D. Phosphorous
93. B. C. Roy Award is given in the field of

A. Music B. Journalism
C. Medicine D. Environment

94. Who is the author of the book titled "Skill It, Kill
It"?

A. Karan Johar B.
C. Ronnie Screwvala
D. Maneesh Sharma
95. Who has become the Brand Ambassador of
'‘Mylab Discovery Solutions'?

Aditya chopra

A. Sonu Sood B. Akshay Kumar
C. Sunil Chetri D. Virat Kholi
96. Yogesh Kathuniya has claimed the silver medal
for India in which event at Paralympics 20207

A. Javelin Throw B.  Shooting
C. Shotput D. Discus Throw
97. Buddhadeb Guha, who passed away, was
associated with which profession?

A. Sportsperson B. Politician
C. Business-person  D. Writer
98. Name the winner of Bird Photographer of the
Year (BPOTY) 20217

A. Alejandro PrietoB. Maofeng Shen
C. Jonas Classon D. Felipe Foncueva
99. Who has become the first Indian woman to win
two medals at the Paralympics?

A. Ekta Bhyan
B. Avani Lekharan
C. Bhagyashri Jadhav
D. Bhavina Patel
100. In India, National Teachers' Day is being
celebrated on which day?

A. September 02

B. September 04
C. September 05
D September 03
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